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QUESTION 1

Which of the following would be the BEST approach to keep a single controller storage subsystem on a single fabric
from being a single point of failure?

A. Dual controllers

B. Multi-path

C. Dual core switches
D. Redundant fabrics

Correct Answer: A

QUESTION 2

When setting up queue depths in the below environment parameters:

-A storage device\\'s port queue depth setting is set to 160

-They would like to assign 4 host HBAs to each port

Which of the following depth values would be the BEST to assign to each HBA?
A. 40

B. 80

C. 160+

D. Default value

Correct Answer: A

QUESTION 3

A server with two HBAs is connected to two identical fabrics and configured as active- active, load balanced with
automatic failover. Under normal conditions, traffic is moving across both fabrics equally. During a maintenance window
to upgrade code on the switches, Fabric A is taken offline. This server reports all paths lost. The switch on Fabric B
shows no light on the port connected to HBA B. Which of the following should be the FIRST step to troubleshoot the
problem?

A. Check HBA B on the server.

B. Remove the server from production.

C. Replace the cable on Fabric A.

D. Replace the switch in Fabric B

SGO0-001 PDF Dumps | SG0-001 Study Guide | SG0-001 Exam Questions 2/3


https://www.pass4itsure.com/sg0-001.html
https://www.pass4itsure.com/sg0-001.html
https://www.pass4itsure.com/sg0-001.html

. VCE & PDF https://www.pass4itsure.com/sg0-001.html
g 2024 Latest passditsure SG0-001 PDF and VCE dumps Download

— PassditSure.com

Correct Answer: A

QUESTION 4

Which of the following technologies has the FASTEST hard drive interface?
A. SATA

B. FC

C. SAS-2

D. SCSI-3

Correct Answer: C

QUESTION 5

An Exchange Completion Time (ECT) gives a technician information about which aspects of the environment? (Select
TWO)

A. Shows potential issues that are occurring and slowing down the network

B. Tracks the exchange of data omitting the value for 10 latency

C. Measures the data patterns for troubleshooting connectivity issues

D. The overall performance of the switches and the connections that are causing bandwidth issues
E. The general overall performance and 10 latency of the network

Correct Answer: AE
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